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QUESTION 1

Which step must an administrator take when performing a vRealize Automation manual installation using Lifecycle
Manager? (Choose the best answer.) 

A. Set up a certificate in the certificate locker 

B. Configure storage policies 

C. Configure an additional network interface 

D. Integrate Active Directory 

Correct Answer: A 

 

 

QUESTION 2

What is the function of Action-Based Extensibility (ABX)? (Choose the best answer.) 

A. It provides the capability to migrate content between instances of vRealize Automation. 

B. It provides efficient capacity and cost management for managed virtual machines. 

C. It provides intelligent remediation and integrated compliance for security patches. 

D. It provides a way to execute stateless function, which contain reusable parameterized actions. 

Correct Answer: D 

 

 

QUESTION 3

Refer to the exhibit. 
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An administrator is testing a newly created Windows 2016 cloud template in Cloud Assembly. While using the Test
option from within the cloud template, the attached error appears. 

What is a possible cause for this error message? (Choose the best answer.) 

A. During the machine allocation phase, Cloud Assembly could not find enough resources. 

B. The network profile created did not have the correct capability tag. 

C. The administrator did not associate a cloud zone to the project. 

D. The administrator did not add a cloud account. 

Correct Answer: C 

 

 

QUESTION 4

The administrator is tasked with creating a number of different content sources in Service Broker so that multiple types
of catalog items can be created. 

What is the only public cloud template that can be selected as a content source in Service Broker? (Choose the best
answer.) 

A. Google Cloud Deployment Manager templates 

B. Alibaba Cloud Resource Orchestration Service templates 
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C. AWS CloudFormation templates 

D. Azure Resource Manager (ARM) templates 

Correct Answer: C 

 

 

QUESTION 5

What are the two prerequisites for setting up multi-organization tenancy for vRealize Automation? (Choose two.) 

A. VMware Identity Manager 

B. vRealize Suite Lifecycle Manager 

C. vRealize Automation Appliance 

D. vRealize Easy Installer 

E. SaltStack Config 

Correct Answer: BC 

 

 

QUESTION 6

The administrator has installed SaltStack Config using the “edu” tenant from vRealize Suite Lifecycle Manager. 

How would the administrator access the SaltStack Config service? 

A. Log in to https:// 

B. Log in to https://edu. 

C. Log in to https://salt. 

D. Log in to https://edu. 

Correct Answer: B 

 

 

QUESTION 7

Which two types of cloud accounts support IP address assignment in a network profile? (Choose two.) 

A. VMware Cloud on AWS 

B. vCenter 
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C. Amazon Web Services 

D. Microsoft Azure 

E. Google Cloud Platform 

Correct Answer: CD 

 

 

QUESTION 8

An administrator will use the vRealize Automation Code Stream Smart Templates to trigger pipeline testing when there
are code changes in GitHub. 

Which template should the administrator use? (Choose the best answer.) 

A. Continuous Delivery 

B. Cloud Template 

C. Blank Canvas 

D. Continuous Integration 

Correct Answer: D 

 

 

QUESTION 9

An administrator is configuring vRealize Automation to generate a unique machine naming convention for the deployed
resources. 

The machine name should meet the following criteria: 

XXX-YYY-ZZZ-## ac XXX – Cloud Zone YYY – Server Function YYY – Application ## – 2-digit running number 

Which component should the administrator use to configure this policy? (Choose the best answer.) 

A. Cloud zones 

B. Machines 

C. Projects 

D. Capability tag 

Correct Answer: C 
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QUESTION 10

Which network profile can be used to isolate a deployment? (Choose the best answer.) 

A. Routed network profile 

B. Outbound network profile 

C. Private network profile 

D. Existing network profile 

Correct Answer: C 

 

 

QUESTION 11

After collecting a log bundle using the vracli CLI command, the resulting .tar file contains many paths and files. 

Where will the administrator find the logs related specifically to the embedded vRealize Orchestrator? 

A. /pods/prelude/extensibility-ui-app- 

B. /pods/prelude/vco-app- 

C. //var/log/vco 

D. /pods/kube-system/ 

Correct Answer: B 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.0/Administering/GUID-
EB314825-845A4F31-8155-53F99F0B7B3C.html 

 

QUESTION 12

What happens if multiple resources in a provisioning request meet conflicting hard constraints? 

A. Tags from the cloud template take precedence. 

B. Round robin is used to select only one of the conflicting tags. 

C. Soft constraints are used as a tiebreaker. 

D. Tags from the project take precedence. 

Correct Answer: C 

Reference: https://docs.vmware.com/en/vRealize-Automation/8.0/Using-and-Managing-Cloud-Assembly/ GUID-
C8C335F4-9623-401C-825E-6F5B2B3C6507.html 
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QUESTION 13

The vRealize Orchestrator Service runs as a Kubernetes pod within each vRealize Automation appliance. Which three
containers make up the vRealize Orchestrator Service? (Choose three.) 

A. vco-server 

B. vro-controlcenter 

C. vco-inventory 

D. vco-controlcenter 

E. vco-polyglot-runner 

F. vro-server 

Correct Answer: ADE 

 

 

QUESTION 14

An administrator installs vRealize Automation using the vRealize Easy Installer. 

What is the correct URL to log in to the vRealize Automation user interface? (Choose the best answer.) 

A. https://vRA_FQDN/org/ 

B. https://console.cloud.vmware.com/ 

C. https://vRA_FQDN/ 

D. http://vRA_FQDN/ 

Correct Answer: C 

 

 

QUESTION 15

In which two areas of vRealize Automation could an administrator view a flow chart of a failed deployment? (Choose
two.) 

A. Infrastructure > Activity > Requests 

B. Extensibility > Events 

C. Extensibility > Library > Event Topics 

D. Infrastructure > Machines 

E. Deployments > History > Provisioning Diagram 
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Correct Answer: AE 
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